
Benchmark: IndexIngestionBenchmark Single threaded results
On heap: the original Druid's Incremental Index Different ammount of rows (75K, 150K, 1M) was checked
Oak off heap: results based on Oak Incremental Index Each experiment done 5 times and the average can be seen in the bottom

On prod1rts3 (22/08)

75,000 rows 150,000 rows 1,000,000 rows
On heap Oak off heap On heap Oak off heap On heap Oak off heap

Rollup Plain Rollup Plain Rollup Plain Rollup Plain Rollup Plain Rollup Plain

Throughput

445 447 401 424 407 374 518 473 457 447 694 615
439 447 384 456 386 378 536 511 452 501 666 649
429 443 437 420 373 399 558 516 449 457 628 620
459 436 402 444 425 387 549 503 476 446 606 663
425 453 412 440 395 408 482 550 440 466 644 676

Average 439.4 445.2 407.2 436.8 397.2 389.2 528.6 510.6 454.8 463.4 647.6 644.6


